Honors Pre-Calculus Final Exam Review #4: 3.4-3.5 Mr. Chancellor
Name: SOLUTION S

Date:

Problems 1-6: Solve each exponential or logarithmic equation algebraically (i.e. without a calculator). Write
your answer in exact form, then compute it as a decimal rounded to .xxx.
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‘Problems 9-10: The number of hits a new web site received follows the model H(r) = 4080¢"**" | where H
is the number of hits per month and 7 is the number of months since it started.

9, Find the number of hits it received in its third 10. Find the number of months it will take to
month. a8 (2 \ receive 5,000,000 hits.
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Problems 11-12: The population of Flagstaff was 26,117 in 1970 and 52,894 in 2000. Suppose the
population growth during that period was exponential according to the model P(f)=a- B

11. Find a and & and write down the final 12. In what year did the population exceed 45,0007
population model. Round any decimals to ©.0L38 ¢
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13. The number of households in the U.S. that own widgets showed logistic growth from 1980 to 1999

according to H(t)= i%—@;ﬁ where /1 is the number of households (in millions) and ¢ is the
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number of years since 1980. In what year were there 86 million households that owned a widget?
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